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Please make sure that the printed pages in th:s question paper are 16 in number
and it contains 47 questions.
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The Code No. on the top of the questwn paper should be written by the candidate
on the front page of the answer-book. ,
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Before beginning to answer a question, its Serial Number must be written.

o FUCYRTH % & F @il g/ 97 T 89 g
Don’t leave blank page/pages in your answer-book.
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Fel

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer. :
o GO ST T To F9T-YH T 97T [l
Candidates must write their Roll Number on the question paper.
gyar 77 @ GT &7 § gd 98 grkad 7 o b AT g0 7 @ 8 ahur % v §a
g 7 @ F A @hE T8 AT

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.
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A= 3y :
General Instructions :

(i) & 557 s &
All questions are compulsory.

(ii) HEF F¥T B SiF I0F @ GT 7T &
Marks of each question are indicated against it.

(i) To7 #% 1 @ 35 7% aghve weT & qiw w1 o # & R e awe o
Fe-giaer 7 fora &
Question Nos. 1 to 35 are objective type questions carrying 1 mark each.
Candidate have to write the correct answer in their answer-book. )

(iv) 57 7% 36 & 40 7% G- TITTHE J97 & FE JoT 2 OFF F &1 A 5T F
JTT TTYT 30 @] 7 o .
Question Nos. 36 to 40 are very short answer type questions carrying
2 marks each. Answer these in about 30 words each.

(v) F7 F% 41 @ 45 TF TEIIHF JT & JAF FoT 3 fH F &1 FIF 9T FH IV
TTHT 40 =T 7
Questién Nos. 41 to 45 are short answer type questions carrying 3 marks
each. Answer these in about 40 words each.

(vi) 97 FHE 46 TG 47 G TAUHF T 81 9T FT 5 i F 81 HOF §97 FH IV
TTHT 70 ST F o
Question Nos. 46 & 47 are long answer type questions ca}?*ying 5 marks
each. Answer these in about 70 words each.

(vii) To7-T7 § @FF @ @ FE ey 7T & Tt 5. HH ae @+ g F oaid g9

2029

2029

garT R 7 & QF s 7 @ o #a % & 3T e 8

There is no overall choice. However, internal choice is given in both long
answer type questions of S marks each. You have to attempt only one of the
given choice in such questions.
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54 g Ut ® fora A ¥ 2 1
(A) 2.0 (B) 2.5

(C) 3.0 (D) 3.5

Number of moles in 54 g of Water are :

® 20 | B) 2.5

(C) 3.0 (D) 3.5

SfeRdier ) 7 e argRee geee B E ? 1
A) 1 (B) 2

© 3 | (D) 4

Find number of unpaired electrons in Oxygen atom :

A) 1 B) 2

© 3 D) 4
B,Al,Mgw'Kﬂﬁ%mmﬂﬁHWHﬂé?mwl 1

(A) B>Al>Mg > K
(B) Al>Mg>B >K
(C) Mg >Al>K>B

[D]' K> Mg:vAl':»B

P. T./01
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(4)

Arrange B, Al, Mg and Kin correct order of their metallic character :

(A) B> Al>Mg > K

(B) Al>Mg>B >K

(C) Mg >Al>K>B

(D) K> Mg>Al>B
YR oM qRe ¥ R weatet & ¥ 7
A) 2 (B) 8

(€) 32 | , (D) 18

How many vertical columns in Modern Periodic table ?

A) 2 - R B) 8

(€) 32 (D) 18
r-ar At fage ot 7ef fer ?

(A) €O, Bh N (B) BF;
() H0 - D) CCly
Which compound do not show zero dipole moment ?
(A) CO, (B) BF;

(C) H20 | (D) ccly
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6. Clp, A CCl, ¥ Pl T 9 SHcrwI-oToF T 8 & 7
(A fapE-fam @
(B) faga—ﬁﬁﬂfﬁgéaa

(C) Wehlvie S

(D) TRZSH Y

Which type of intermolecular force exists in Cl, and éCl4 ?

. -

(A) dipole-dipole forces
(B) di;;ole—i_ﬁduged Eliph-le fo_rces
(C) dispersion forces
(D) hydrogen bonds
7. ﬁsammwﬂﬂmamﬁa'srqaw%'?.
(A) 0°C : (B) O K
(C) O°F - | | _(Dlsﬁﬁ%a@éaﬁr
The temperature at which the volume of gas is zero ?
() occ | (B) 0K

(C} O°F - . (D) None of these

2029
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8. w3 suiw RRuRadr § 83 3 R

10.

2029

(A) AT=0 (B)

(C) g=0 . (D)

2029

AP=0

w=0

For the process to occur under adiabetic conditions, the correct condition is :

(A) AT=0 (B)
(C) g=0 (D)
Hg- 95T B pH e & ?

(A) 7.4 (B)
© 7.8 (D)
The pH of Human Saliva is :

(A) 7.4 : (B)
() 7.8 - " (D)
KCIO; & Cl %1 S e 71 € ?

(A) +5 (B)

{C)I +1 (D)

AP=0

w=0

9.2

6.4

9.2

6.4

+3
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(7) 2029

The oxidation number of Clin KCIOj is :

(A) +5 . (B) +3
(C) +1 (D) -1
so4“ﬁwa?ram%ﬁw#@1w%? | ‘
(A) -2 (B) +6
(©) +3 (D) +4

The oxidation number of Sulphur in sob' is :

(A) -2 (B) +6
(C) +3 (D) +4
TR B e @ gen R § 2 1
(A) 2 ' ® 3
(c.:) 5 (D) 4

How many isotopes of Hydrogen ?
(A) 2 (B) 3

(€) 5 . (D) 4

P.T.O.
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14,

15.

2029

(A) 0.0V

(C) -1.0V

(B)

(D)

Standard electrode potential of Hydrogen is :

'(A) 0.0V

(C) -1.0V

aﬁﬁﬁ QST 1 GT ¢ 7

(A) Ca(OH), |

(C) KOH

What is formula of Caustic Soda ?
(A) Cal(OH),

(C) KOH

fope &l o1g 1 TS a«'-r?r FTE?
(A) Na

(é) Rb

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

2029

1.0V

20V

1.0V

20V

NaOH

Nﬂ2C03

NaOH

.NCIQCOS

Cs
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Which alkali metal having least melting point ?

(A) Na

(C) Rb

(B)

(D)

K

&S

16. FHMHE 9 § He- F1 qaiits @E @9 $H-a1 & 7 S

17.

(A) &

(C) Gl

(B)

BLIETS

(D) e

Thermodynamically the most stable form of Carbon is :

(A) Diamond

(C) Fullerenes

C,yH oy TG TR G B 7
(A) T&A

(€ T

C,Hy,-2 is general formula of :

(A) Alkanes

(C) Alkenes

(B)

(D)

(B)

(D)

(B)

(D)

Graphite

Coal

Arenes

Alkynes

PiT.O.
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18. wifean Wiee qr et amgw Prser A ™ FA Y W I Y ? ‘
(A) (B)
(C) =& (D) =LA

Heating a mixture of sodium acetate with soda-lime gives :

(A) Propane (B) Ethane
(C) Methane (D) Butane
19. 34,216 % W 4% it as Ffea Fifm 1

Round up 34.216 upto three significant figures.

20. P wiele # Reee o atfteam e 7 1

Mg, Mg?*, Al, AI?*

Which of the following species will have largest size ?
Mg, Mg?*, Al, AP®*

21. p-aifF a1 A AR A i 1

Write general electronic 6onﬁguration of p-block elements,

2029
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23.

24.

25.

26.

27,

2029

(11)
aﬁaa?nrﬁw'w%?

What is Boyle's Law ?

o & am ¥ g Rew dar ¥ 7
What is constant in Charle's Law ?
afferdieRtr fafy a/r % 7

Wl-iat is oxidation process ?
Frefeie sififear % oroeres #17 § ?

Zn+CuSO, —— 3 ZnS0O, +Cu

Which is reducing agent in the following reaction ?

Zn + CuSO4—— ZnSO4 +Cu
Na, K& %9 R 41 & ?

Why is Na less reactive than K ?

1 kilometer = ..cvvvevnnanes millimeter.
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29.

30.

31.

32.

33.

34.

35.

2029

Li &1 O q 9+ aren f&aif AR .o, B

Binary compound formed by Liand Ois ................ ;

TAF WG H Y@ NV Py aE orh B, Rt o Rew @ T

Hew ol

Each line of V Vs. P graph at constant temperature is called .....coooeeeeee ;

In a reaction acceptor of electrons called ................ :

CuS04.5H,0 ¥ eEEeE oTET OF & el A de .

2029

-----------

1

................ number of hydrogen bonded water molecules in CuSO4.5H20 .

Group 13 hydrides called ............... :

KO, & K %t ST T coovovvveennnes 3

................ is oxidation state of Kin KOy .
gt 13 Li, Na, K, Rb, CS g ....... ee. FEEAN - E

Group 1 Li, Na, K, Rb, Cs are called .oovereneen. mctals.

The type of hybridization of carbon in diamond is ................ :
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39.

40.

41.

42.

(13)
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NaOH 3 faca 3 HIear &1 uRee e, Rl 4 g NaOH HI 9 & Feie o e

T 8, @ e $ 250 mL e 8 o)

2

Calculate the molarity of NaOH in the solution prepared by dissolving its 4 g

NaOH in water to form 250 mL of solution.

0.1 kg 5 AR 10 ms~! 3T ¥ TRy I & & W H qon= F o ?

2

What will be the wavelength of a ball of mass 0.1 kg moving with a velocity of

10ms™! ? .
fortem @dt F= % 7 om I v
What is enthalpy of formation ? Give oné example.

aﬁ%@ramzﬁfNHS_ T HCOO™ & §g™I o &7 &y 7

What will be the conjugate acids for the Bronsted bases NH 3 and HCQOO™ ?

TGS 1 € 7 36% YR Sarey aied St

What are Electrophiles ? Give its types with exampiles. |

g3 1 SF g & e @ SEe Wi aren Ht

Explain Hund's rule of maximum multiplicity with example.

4% (@, T T 41 ST SHott H ARG He

Define closed system, intensive properties and internal energy.
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43. o7 T A B A AT @ S & Y aR P

Define acid and basc with example in Bronsted-Lowry concepl.

a4 siEe SRy, g g SIE U1 SATENE P AT Hif

Explain catenation, inert pair effect and allotropy.

45. Prfafaa & IUPAC M fofEq :

@ /SO '\

Cl” "Br

(b)

\ Cl H
() ///J\\\V///\\\1///“\\\

Give IJUPAC names of the following :

@ /SO \
Cl" Br

0 et
(b) ///“\\\///u\\\ .
Cl H :
(c] W
2029
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(15) 2029
T Fet F GHOT Y oG T AR B 7 sp, sp? qul sp° €K A o @
FEEYT Ghed aof i 5

What is meant by hybridization of atomic orbitals ? Describe the shapes of sp,

sp® and sp® hybrid orbitals with example.._

OR

&Y FHife F oMY T FH50 & ? Ny, Oy, O T 05 ﬁmu%wm%|

What is meant by the term bond order ? Calculate the bond_'orcr:icr of Ny, Oy,

O3 and O;3. |

(i) ged ER S SR 2
What is Wurtz reaction ? )

(i) WRRIHG faw T ¥ ? SR died e i)
What is Markownikoff rule ? Explain with example.

Y4l

OR
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(i) ot fram @ ® 7 3@ afed e i ' 3

What is anti- Markownikoff rule ? Explain with example.
(i) R TEHEAG SR e 7 . %

What is Friedel-Crafts alkylation reaction ?

2029

Scanned with CamScanner



